CW FSC-T/5m/1.2

44,0350,1493



CW FSC-T/5m/1.2 (44,0350,1493)

-

42,1500,0413

A
ROk g
.

42,1000,0663

P

42,1500,0387
S

42,0401,1099

40,0001,0274

40,0001,0258
40,0001,0272x) .-~
40,0001,0275 -~

]

42,1000,0656
42,1000,0657
42,1000,0656 x)

42,1000,0659 _
x) standard

Page2/5



CW FSC-T/5m/1.2 (44,0350,1493) @

‘ TAB. 4 clamping piece

Fe / CrNi Alu / CuSi colour
& mm inch
0,8 030 44.0350,4080 grey
0.8 030 | 44,0350,4081 grey
0,9-1,0 | 035-.040 44,0350,4082 blue
1,2 045 44,0350,4083 x) red
1.4-1,6 |.052-1/16 44,0350,4084 black

x) standard

Page 3/5 19.07.2023



CW FSC-T/5m/1.2 (44,0350,1493)

\Froniu=

Article no.
42,1500,0413
42,1000,0668
42,1500,0385
42,1000,0669
42,1000,0661
42,0407,0558
42,0300,2589
42,1500,0501
42,1200,0676
42,1200,0582
42,1000,0667
42,1000,0666
42,1000,0662
42,1500,0650
42,1500,0386
42,0407,0471
42,0401,1327
42,1000,0663
42,1000,0664
40,0001,0274
42,1000,0657
42,1500,0387
42,1000,0660
42,1000,0670
44,0350,3435
42,0405,1349
42,0401,1099
44,0350,1585
42,1000,0659
42,1000,0656
42,1000,0658
40,0001,0418
40,0001,0418
40,0001,0272

Page 4 /5

Description

Lock washer DIN 6799 @3.2
Knurled nut M5 KD FSC
Disc spring Da10xDi5.2x0.5
Clamping part KD FSC

Axis CW FSC Mbx18

Binder 180 removeable elastic
VELCRO-fastener 50x300mm black
TORX key TX8 straight

KD manual key

Rocker KD FSC

Knurled nut M5x0.5 KD FSC
Tension rod KD FSC

Axis CW FSC M5x13
Compr. spr Do18x13 0.9
Zyl.stift DIN 7 A @2m6x5 St
STRAIGHT PIN 6325 D=2m6 x 10
Screw SF M2.5x6 K

Sliding part CW FSC
Marker TIGO2 KD

Teflon liner HQ 0.8 (4.8/1.2)
Wire nozzle 1.0 KD FSC
Cyl. pin DIN 7 A @2m6x4 St
Connection piece KD FSC
Insulation KD FSC

Torch housing cpl. MTG
Central con. FSC-G man.
PT screw steel M4x12mm
KD mounting TIGi

Wire nozzle 1.6 KD FSC
Wire nozzle 0.8 KD FSC
Wire nozzle 1.2 KD FSC
Hose PUR 5,5x1,25x8 RT
Hose PUR 5,5x1,25x8 RT
Teflon liner HQ 1.2 (4.8/1.8)

Quantity  Unit

04 m
0,04 m

19.07.2023



CW FSC-T/5m/1.2 (44,0350,1493)

\Froniu=

Article no.
40,0001,0258

40,0001,0275
44,0350,4080
44,0350,4081
44,0350,4083
44,0350,4084
44,0350,4082

Page5/5

Description
Teflon liner HQ 1.0 (4.8/1.5)

Teflon liner HQ 1.6 (4.8/2.4)
Clamp. nip. 0.8 Al/CuSi PushPu
Clamp. piece 0.8 Fe PushPull
Clamping piece 1.2 PushPull
Clamping piece 1.6 PushPull
Clamping piece 1.0 PushPull

Quantity

1
1

Unit

pc
pc
pc
pc
pc

19.07.2023


http://www.tcpdf.org

